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Entrance test for D.EL.Ed. Admission- 2015-17

General Instructions

Total Pages-32
Full Mark- 100
Time- 2 hrs.

1. The Question Booklet is printed both in English and Odia language. The Candidates are free to choose their
medium of language for answering the question.

2. The test Booklet has two sections. Section | contains 40 questions and Section Il contains 60 questions.
There are 100 questions in total carrying 100 marks,

3. Both section | and section Il are compulsory for all the candidies.

4. Each question from 41-55 has been written in Odia/ Santali/Urdu/Telugu language. The candidates

applying for General D.ELEd. course are required to answer the Odia portion (41-55). The candidates

applying for Telugu/Urdu/Santali D.El.Ed. course are reguired to answer their specific longuage portions at

serial number 41 to 55,

Each question carries 01 mark only. For each correct response, 01 mark will be awarded,

For every incorrect response, 0.25 marks shall be deducted.

Mare than one response to o question will be treated as a wrong response

The candidates are required to fill up the particulars in the OMR sheet by using Blue/Black ball point pen

only. Use of Pencil or any other writing material is not alfowed,

9. The candidates are required to check carefully that the test booklet SET code (A, B, C or D) is printed on
cover page of question booklet and they have to indicate their respective code number in the OMR onswer

BN

sheet,

10. The condidates are required to check that the test booklet contains such number of pages as mentioned on
the cover page.

11, in cose of any discrepancy, the matter should be immediately reported to the invigilator,

12, The Candidates are not allowed to leave the examination hall before the OMR onswer sheets are collected
and counted by the invigilotor,

13. The candidates are required to strictly adhere to rules of examination. Any condidate found to have
resorted ta unfair means or miscanduct in the examination hall shall be expelled from the examination hall
on the spot and his/her examination shall be cancelled, Criminal proceedings may be initiated against the
candidates misbehaving with invigilators and attempting to disrupt the conduct of examination.

14. Use of any document , textua!l materials, calculatars or any other electronic gadget, log tables, mobile
phones, plain papers are strictly prohibited inside the examination hall,

SET- B Entrance test for D.EL.Ed. Admission- 2015-17 Page 0lof 32
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SECTION |

Read the following passage carefully and answer the questions below as directed:

The structure of the feet and legs varies greatly among frog species, depending in part on whether they
live primarily on the ground, in water, in trees, or in burrows. Frogs must be able to move quickly
through their environment to catch prey and escape predators, and numerous adaptations help them
do so. Many frogs, especially those that live in water, have webbed toes. The degree to which the toss
are webbed is directly proportional to the amount of time the species lives in the water. For example,
the completely aguatic African dwarf frog (Hymenochirus sp.), has fully webbed toes, whereas the toes
of White's tree frog (Litoria caerulea), an arboreal species, are only a half or a quarter webbed. Arboreal
frogs have “toe pads” to help grip vertical surfaces. These pads, located on the ends of the toes, do not
work by suction. Rather, the surface of the pad consists of interlocking cells, with a small gap between
adjacent celis. When the frog applies pressure to the toe pads, the interlocking cells grip irregularities on
the substrate. The small gaps between the cells drain away all but a thin layer of moisture on the pad,
and maintain a grip through capillarity. This allows the frog to grip smooth surfaces, and does not
function when the pads-are excessively wet. In many arboreal frogs, a small “intercalary structure” in
each toe increases the surface area touching the substrate. Furthermore, since hopping through trees
can be dangerous, many arboreal frogs have hip joints that allow both hopping and walking. Some frogs
that live high in trees even possess an eiaborate degree of webbing between their toes, as do aguatic
frogs. in these arboreal frogs, the webs allow the frogs to “parachute” or control their glide from one
position in the canopy to another. Ground-dwelling frogs generally lack the adaptations of aguatic and
arboreal frogs. Most have smaller toe pads, if any, and little webbing. Some burrowing frogs have a toe
extension- a metatarsal tubercle- that helps them to burrow. The hind legs of ground dweliers are more
muscular than those of aqueous and tree-dwelling frogs.

Choose the most appropriate alternative as your answer from the choices given against each
question below:
1. Frogs have to move quickly for
A. climbing trees quickly.
E‘/ catching preys and escaping predators.
C. looking for mates.
D. catching predators and escaping preys.
2. The toe pads of the frogs living on trees help them to grip
. slippery surfaces.
B. rough surfaces.
C. smooth surfaces.
JE(. vertical surfaces.

3. Which of the following frogs have highly muscular hind legs?
A, Air-dwelling frogs
B. Aquatic frogs
VQ. Ground-dwelling frogs
D. Arboreal frogs



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

4. Which of following generally lack the ability to adapt?
A. Ground-dwelling frogs.
B. Aquatic frogs.
C. Air-dwelling frogs.

5. Arboreal frogs. An arboreal frog livesin

A. burrows.
B. air.

(» trees.

D. water.

Choose the most appropriate answer from the choices given against each question below:

6. The word ‘elaborate’ in the passage is a
A. noun.
Br adjective.
o pronoun.
D. adverb.
7. Inthe passage, the meaning ‘adjustment to new situations’ can be attributed to the word
A. evaluation.
B. escalation.
C. evolution.
0. adaptation.

Find out the part which has an error in the following sentences. If there is no error, your
answer is (D).

8. He says that a two-miles walk always keeps him healthy and fresh.
A. Hesaysthat /
B. atwo-miles walk /
C. always keeps him healthy and fresh.
}’- No error,
9. He asked me Why didn’t | join the picnic.
A. He asked me /
B Why didn't1/
C. join the picnic.
D. Noerror,
10. One of my friend is coming from Mumbai.
A. One of my friend /
B. iscoming/
C. from Mumbai.

0. Moerror.
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11. In the following number line, how many times number ‘5’ is immediately followed by ‘7 but not
immediately preceded by ‘3'7?

Boage eaa dIFea cacoda ‘5’ YT OR asa asa ‘7’ AT Fg €1Q 0]

geQ ‘3’ QIR
i o~ n s -
75457835739575657574357857357
A 4 B 5 C. 6 D. 7

12. Which number will replace the question mark?

ggeIea 52 YFea 6aa AT 21 ?

19384 : 66571 :: 57904 : 7

A. 12345
B. 57984
C. 23519
D. 74680
13. The numbers in the three intersecting circles indicate the number of students who speak
different languages. How many students speak only two languages?

90Eag 699 QYR G6RIT 9@ AUEA gea dHi g I LY
FSAINTE TG OINT | 6960 THIR DI 6P QOT A gL ?

10 English
. R
_ u‘ Hindi
Odia @ al
Geal
A 26 C/ 12
B. 16 B3
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14. Which number would replace the question mark?

6RN LHYT QYRIOe §2 QIN6ER A8 R ?

3
32
?
6 12 =
18
8
A. 48
B. 24
C. 28
D =340

15. If '+’ means ‘x’;‘x'means =': ‘=’ means ‘+‘ and‘+* means '+,

then 8+(15-6x2)+16x4=7?
A '+’ @2l %5 ‘Xezd ;2 qud P ee ‘Tl ‘4,

6069 8 + (15 - 6x2)+16x4= ?

12
64
14
16

=
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16. Which of the Venn diagrams best indicates the relationships among the three items : Teachers,
Writers, Males?
ocn BULINAD 699 R 6QUIPRE WE F6RIF e Ausa Sl ARAY

gelad 7 §9,69UR,999 ?

c@ l
(RO

A0

17. Prabir walked 7 kms towards West, turned right and walked 10 kms. Then he took two left turns
and walked 5 kms and 15 kms, respectively. How far is he from the starting point?

gela adag 7 km c@ql, sasq eelag 9/ 10 km QIaml | Sla6a 64

QaeQ & ag'g QAN 8 TAREA 5 km @ 15 km @131 | 6d 699Q SIS 2Ied

QAZAI, 6Q0IQ 6RES QAR AT ?

A. 12km C. 13km
3( 17 km D. 27km

T ™. __. ma~_TrL @1
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18. There is a queue against a railway ticket counter. The passenger A is 9" from the front and

another passenger B is 6th from the back. If a third passenger C is exactly in the middle of A and
B as well as 20th from the front, how many passengers are there in the gqueue?

€QRCAAR T6RE QINLQ 2ANCA ARIFISE UF6R 591 62I0eF | Q191 A uIFa
A9AGQ ¢l QIRER ART 6 ARY 64 KIQ1 B uIFe a8aeq 99 gInsa 2|
a@ go1a @1g1 C 01 A 8 B 01g afIe easika (A86a) 1e MIFa 2I99e'Q

P07 QIFER ARF, 6062 AUIF6R 6716 6066 K6 QIQ1 ASE ?

A. 49 B. 42 C. 40 D. 36
19. Which is the wrong term in the following number series?

Q6 LHILAER 626 THYUT Q@R THYI?

2,5,12, 10, 30,.42

A, 42 B. 20 C. (12 D. 5

20. Three of the following four figures are alike in a certain way and one is different from the rest.
Which one is different?

Fqgea clealS SenIes Aug S6IT 1o GRe gsa anip 1e* sQIFN
ARIARTOIQ ARG | RV ASYANFFOIQ ARG ?

A, " S
o S—
H
B e =
e}
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21. Who is called the father of Economics ?

A. .M. Keynes C. Ricardo

B. Malthus D. Adam Smith
UARTEQ IR 6RIR UVIQ QLI ?

A 6R.99.8R4 . C. SRNER

B. AImaq D. 2eie e

22. Which of the following was given the highest priority in the first Five Year Plan ?
A. Agriculture
B. Industry
C. Trade
D. Commerce

geq aaeide saecisa fghge aug 6RUCY AYR 998 FAAQAR ?

A Q8
B. @RRAQUII
C. Yeaiq
D. QIERY
23. In which year Fundamental Duties were incorporated in the Indian Constitution?
A, 1971 C. 1975
B. 1972 D. 1976
6P AdLIca NNG1D aRAIREa 6¢lde RENQ ALY SR ?
A BU9C C. erog
B. €99 | D. R(¢'99
24. Which organisation had prepared Natjonal Curriculum Framework (2005) ?
A. NCERT C. CBSE
B. NUEPA D. ICSE
RNISIE AI0IRA AR (9008) 694 Yl 990 FECR 7
A NR Qg T c d@vqe
B. Qyal D. AR T 9q @
25. How many Regional Institutes of Education are there under NCERT?
A 3 B. 4 | [
48 3 Q AQ § 2INEH 6960IT 218He geae a8 ?
A 9 B. ¥ cC. 8 L
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26. Who was the Chairman of the Education Commission (1964-66) ?

A. Dr. M.S. Adiseshiah

B. Dr.L.S. Mudaliar

C. Dr. 5. Radhakrishnan

D. Dr.D.5. Kothari .

&gl 21eaigl (e¢9¥-99)Q 2IA 9 Y@ ?
A 9QQ 97,49, 21F6ad2
B. @QQ IN.1.9IR2AQ
C. 99 I9q.QRIBIR
D. @9 ©.49.6R10I8

27. What is the chemical name of ‘Laughing gas'?

A. Nitric oxide C. Nitrogen Pentoxide
B. Nitrogen oxide D. Nitrous oxide
‘USRI’ @ AALER RN *6?
A RIRES AFINES C. RIRECIERR 6ACYYINEP
B. RIRNETISWR AFINE D. wIMELITC AFIWNE
28. Who is the author of the book “Animal Farm’?
A. Leo Tolstoy C. John Dryden
B. George Orwell D. S.M.Ali
‘AFAR T’ QIR RS T4 7
A @6 oRg9 C. @R LU
B. ¥& QBN D. g .4¢. 2R
29. In which year was the first general election held in India ?
A. 1947-48 C. 1950-51
B. 1949-50 D. 1951-52

QARGER AT ARV TSR 699 AR AYTS cRINYA ?

A CQ¥9-¥I C. f(8o-8¢

B. eC¢¥C-%o D. e('§e-89
30. Which of the following was not a centre of learning in ancient India ?

A. Taxila C. Vikramashila

B. Nalanda D. Kosambi

FRYS FAQ 619T FIFIR VKR AVINIR 6@Q PUM ?
A ORER c. SQASRI
B. RIRQI D. 6QIER
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31. What is the best time for teaching?

A. When the teacher is ready to teach.
B. When the student is ready to learn.
C. When the subject period is there,
D. When all students are present.

Qe @89 FAee A6 AL 6RUE ?
A 6UEEETER SN MR 769 996 269 |
B. 6K606Q6R RIQ AMIged G668 996 49 |
€. 6760696k TP dugald Taae 8@ |
D. EXIELERER 6¢EII6R AAY |IG VAF 69 |

32. What should a teacher say when he/she is not able to answer a student’s question?
A. “lalso do not know, let’s find the solution together”.
B. “Don’t be over smart, sit down”,
C. “This is not related to the course”.
D. “Find the answer to the question yourself”.

6D60696R JNQ 6wlad 210 USIfYS gIR L8R cIRANE 918, 64 9’¢
REQ oo ? '

A ‘d a9 gge aaa R18 QIF, 21Q 962 fd 9 9¢e e eGP |

B. ‘694l 6Qcda 22912, 94 ag’ |

. ‘«qgl aloied Aede g6’ |

D. ‘Q6F G6@ g9Q R 64IF e’ |

33, What should the teacher aim at while teaching?
A. Students memorise learning material.
B. Students understand learning material.
C. Students get good marks in examination.
D. Students know how to copy the learning material.

A0YRIR AFA6R SReT Uy Y @' 6291 @Fe 7
A. BIQAIER AIOYLY] T8g 99 |
B ISR AICYILY]F € |
C. RIGAIER AIOYIDY VAER AR FAQ QAWG |
D. SIRFIER VIOILYY VOIRVIER AV QA |
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34. What is the main goal of education?
A. Teaching reading, writing and arithmetic
B. Teaching social customs
C. Developing inner potentialities
D. Provides vocational education

QIR gy AQY 9’8 ?

A. 3Rs @ 909,R4e 6 9dieq SR |
B. AFIGS SR SHLLINQ TS |

G UsRPe ada Seia qug |

D. ARIYRS FVIQIR |

35. Which organisation regulates quality in primary teacher education?
A, State Council of Educational Research and Training(SCERT)
B. National Council of Teacher Education(NCTE)
C. National Council of Educational Research and Training(NCERT)
D. Board of Secondary Education(BSE)

glafie 9a6a dae d8Ia gaIge AR 3934 3762 694 AQIIR UTIQE ?
A. QI9Y S8l g69a€l 6 eima adae (SCERT)
B. @919 dge dal agdae (NCTE)
L el91a da seeadl 8 o1Ra agae (NCERT)
D. axfie dsl atae (BSE)

36, What is the purpose of evaluation in teaching-learning?
A. Rank the learners. ]
B. Trying to know how far learners have understood.
C. Re-explain the matter.
D. Control the disturbing students.

SIRIPER JRIIARR AEREY € ?
A dgIgnies 6arl SRS 990 QG9! |
_B. daighaiee al0Ieg 69609 9828 KIS |
C. QIoY9gR GeayIsyl @@ |
D. dNIQINER PRIALEINYL BT FAaE RGI! |

37. When a student is creating disturbance in the class what should the teacher do?
A. Drive the student out of the class
B. Call his parents to the school
C. Give him corporal punishment
D. Make him sit in the front bench
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9T K64 219 69416Q QNI QAN TR JUEH 6 @GR 056 ?
A. 19T 696N 24Q QLA &I |
B. 218Q JeIFIol/ANNILF TR SN |
¢ 2197 A6 @9 JuIe 98 |

D. RIY Al 6LEEQ PAIRS! |
38. What is the best method to teach Social Study ?

A. observation method C. look and write method

B. memorization method D. experimental method
QAIFIFR QIO FAES AYQ R FARIR a8d 7@ 7

» AY6TE AT C. 699 B 6Rd 89

B. QUGREQI 068 D. QNSRS A8S

39. If a child is absent minded in your class what will you do?
A. Throw a piece of chalk to draw his attention.
B. Report the matter to the headmaster/principal.
C. Report the matter to the parents.
. Go near the student to enquire the reason.

AT @6F1 6gEI16Q TIOIRIR FREIER RE6E BIQ ARYALI AN, SI’6R6a @’6
RAQ?

A €9 9F 2edd QA O UG U6 OR CTIANTS |

B. guIedae/dGung Geald @Ge |

c. 2Iga doIRIelg Asals A9 |

D. 2R FRCQ AR FIQ AIAFAPIR VIQE ALALIS @GS |

40. If a child has passed in all subjects but one what should the teacher do?
A. Conduct a diagnostic test.
B. Ask him to stand up on the bench.
C. Consult parents to understand the problem.
D. Ask the student to give more time for the concerned subject.

99 K66 2IQ 66T FAAQ BIF ARY AAY FAAER AIY *FAIM 6069 FIR V'@
R TS ?

A FRI0 a6 QG |

B. RIQQ 698 QACR QI 629I1q T |

c. QA @’a Q3! Free ToINIel/ARNART ATE NS K6 |

D. TYS FIAY AYR ANA 629 AN RIS TAUAE 6QQ |

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World A WtsApp/Call- 8596976190

41, Dgato ¥90 B, DiFo HIoWHI.

A Si6ss  Bm . C.&amow D o
42, 2,010,505 - 8 JYIHOD IDoDH® ?

A Lo B. Sodgdoen C. e¥Jgoen D. Sodgddoen
43. 2,605 U THE 3650 ©bH TN I Fdr Hod (HoSndIB?

A FO B. So&) &0 C. | r5)® D. e3g5od
44, "Bud" HEewsw 28 J T I

A, J8a5030 B. Jedgso C. Boir D. $8gaead o
45. FIresd ed IO Fod. NeNoHDAI 5650 ID?

A JFag B. JRama C. o7 D. ®Jgohn
46, S0BOTE WS JewSrbad. Rod Fiw 35087

A 525D B. ok C. o8 D. Sew 5o Ty
47. D= 3:3&0:» (DB owaI0.

A es5°F0 B. &0 C. 9a%o D. 5.
48. BAOPOD a'%.-:iné* TP B STOD?

A SgEHSD B, HF0HE C. I35 D. &h50¢sS
49, "BorE” Tuan I STHH?

A 1Bgrts B. @ tzrd C. |ogted D. $teors
50. Jr@d Fodn J&p Seudddd) ? :

A S B. Jrgi+d C. dgpte D. r&tes
51. BO0HOD eIYSFgoRne ST0I" (Do

A SF¢ud B. oD &0 C. 0388 D. 8506

52, erdrolabo BEabe GInd), JEE0ESEIN J8?
A, QDITTOD B. @3roida» C. adrchadn D 8rohan
53. ‘Db o SEy BuE), ST of SEH8 ?
A. ©0G0 B. 9,08 C. oy D. 55005
54. B¢ SEDWD DGoHI0
A DIFyHT B HIFHr C Dz D NI gY DT
55. "S5 A" e 5650 B, ©Fodn?
A ©8 5350 B 583 SN DL Cowodwnd D 5@5pSISYHL.
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¥e.  6QOQ IRC Seia d21)

A ROR
B. 90I@
c. aqig
D. ROR

¥9. @,d,9,d,e—9% od gfg @’aqriana?
A BFY QYEQ
B. 984 Y&
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A 2916
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D. 6Qgal
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A €IgA
B. dige
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¥e. ‘g’ aed Gad §4q 6eIed ?
A gel+ @
B. g9+8IQ
C. 9R+ 3P
D. g+ AN
80. RIS eT a8 c0e c2Iag ?
A U+ C. €1+ 2
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8. 6RUCER ARYSYA 69IF 60T FoIa &Y ?
A CIRINR c. daed
B g6oal D. RQAR
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89, ‘@aig’ q Fa1eIee 98 @'a 2

A

B.

aqaia
2L

8. ‘aeql’ @ AAIEUS ARE FoIa Fa|

A.

B.

geai
aqean

8Y. ¢® Jecq 5ec eal

A. ALK

B.

FeRIAINR

88, ‘QI0ea a0’ @ 28 @’ ?

A.

=

&

e

aeeaay Iaa |
RI06Q AIAIRYS! QO |

. U6 aee Faa | |
. QIO QIO Q1R T |

YZONZ7A (SANTALI)

41. “"Q2LARD" 2.22). BACWIRY BZ 1
(A) E2Ga2» (B) LOEOD2 (C) Tdt2ed (D) nauand

C. {aa
D, @8

C. el
D qEig

C. ALK
D. FIERIKUAR!

42.9, 2, A, 2, @ 2209 8A0A £9 022 MY UZ0DG-D) 2
(A) b2822 2223 (B) 02.05G b2029 2223 (C) V20028 2029 I3
(D) YDWD 2292

43. HD7RY. LOIKLY N2 V2062396 bIAE 'UKR0ALY) 2.28). 20
DRILY LRIE WZL AbIED 7?
(A) BAPA (B) LIKLRILO0 (C) BIALILO2 (D) 20L2DEI23L2

4. “9PD2 GYHVIG AL GZPOZ UARD 82M2 DAGS 222y AR G2
WIRY G2" B2 V208D bIL
bALZD) ?

(A) GHEZLE, (B) bAEZBY) (C) HAbU (D) 023
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45, 'G2TIP PV 02G2R W20 K2h2d 22 2.32. PAOIY 2 GID
2T £.32. €2 022 22MD (BI2H) bALD) ?
(A) GYEHU, (B) GHEYE, (C) b2IZ2YD) (D) DAL

46. W2 WD2 DIV 02R 06D OSIZVE LIALCH | 229D
R0 D2 GHELE 20D £ 20D LALY) ?
(A) W22 (B) WA (C) DAOAI (D) bAZDVH)

47. DOAZD. DH.OAE 2.32). 32U UZ 1
(A) ®AUAR (B) ¥23U2) (C) Ba02Mm (D) Q2P

48. 22 HAG D2 9.22). LAY 2).29). L2P22 OILH ?
(A) W2AWITIAEZ (B) GDID (C) bAZIVD (D) 2H32

49. DAUDE 2139, 822 PZLARZ VZEIY ALAED 7?
(A) Ba+UaG (B) hau+aGc (C) haua+G (D) D+UA+G

50. ‘UBISS2M2’ £.22). 829 P2LANZ MZEZID ALIEDH) ?
(A) UD+20D (B) UDSSD+DD (C) UDSEH+D (D) UDLOD+IDD

51, 202NAE D2 “AC” 0L K2P22 ALATH HIVU U2 ?
(A) UDWAIVDEZ (B) dA0D. (C) 0DTAP (D) NAUDE (VDU+DE)

52. "H0.R" DZRAG HYPND 2.29. 2 822 bLILH ?
(A) ZANLTIR (B) DBHR (C) ZATHR (D) OALE

| 53.“L2M2U" DZRVG LIUDE 29082 2.22) HISU UZ 1
(A) KHZSIA (B) 82WZDY) (C) PAVAR (D) 8AbD.M

54, E7RZ). .28 LAEWAY U2 1
(A) K20 (B) LDZOD) (C) KAIZOH (D) K0P

55. "bANGAL2RY TANKY" 2RIE U2B20 82% 7?

(A) .07 2D K20AU (B) bANSA 02 BAZWY (C) .0A PG LAH0AU
(D) bANSA €9 TANGD U202 DEY.OA
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56. A sum of money amounts to Rs 5200 in 5 years and Rs 5680 in 7 years at simple interest. What
was the rate of simple interest charged per annum?

e 329 qRue,dee g Faiesa 5 @dsa 5200 o1 @ 7 edsa 5680

CSIER AGEe 291 6669, TR AR YR 2IR 6R6E 7

A. 3%
B. 4%
C. 5%
D. 6%
57. How many rupees will be the compound interest on Rs 16000 for 9@ months at 20% per annum
compounded quarterly?

g-ade oa9® qu eIesq, 16000 c¢wie «@e 20% Qeesa 9 AQa

SRR QU 6REE OF1 629 ?

A. 2522
B. 2518
C. 2524
D. 2520
58. Which of the following ratios cannot be equal to the ratio between two natural numbers whose
sum is 327

Q6 ANIL TR cANTR 32 | 6069 69F QRF TrUundea AgAIe §9d

699 2QUIe A2 AAIR 621QAES 1T ?

B, Si2
B. 13:3
C dhia
A it |
59. What number must be subtracted from each one of 21, 38, 55 and 106, so that the remainders
are proportional?

21, 38, 55 @ 106, g6oy® CUNIQ 6@9 THY TG RER, FCANTR JFR

arigdiel 686 7

A2
B. 4
C.. b
D 8
60. IfA={x|xeN and1 < x<8},B={x|x€eNand 5 < x< 10} ,then whatis B-Aequalto ?

adA={x|xeNel<x<8LB={x|lxeNa5<x<10}gy,

606 B-A 6960 629 7

A. {2,3,4,5} C. {9,10}
B. {2,34,59,10} D. {8,9,10}
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64,
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15% of which of the following numbers is equal to 3?

f9g 699 @dve 15%,3 ae aaig ?

A, 20

B. 45

C. 30

D. 200
I 3 chairs and 1 table together cost Rs 900.00 and 5 chairs and 3 tables together cost
Rs 2100.00, then how many rupees is the total cost of 4 chairs and 1 table ?

9@ 3G 69I& G 6aIGq 65'9Ra s9Ie @1a 900 o] 29 9e* 58 691@ 6 3§

EeIMA 6A1E' @i 2100 @1 g4, 6069 4T 6917 6 66154 66994 651G Qe

eee o'wl ?

A. 1005
B. 1150
C. 1500
0. 1050
The measure of an angle is 24° more than its complement. What is measure of the angle?

OIS 6QI9Ia afiaia ora UAYYRS CRIda G 01g 24° 2R €06@

ERIEITQ aRiCIE 6R6E 7
A. 66°

B. 527

C. 47°

D. 102°

The measures of the angles of a triangle are 3%, (2x-7F and (4x-11F. What is the value of x ?

60IS 1 GRea cRlEgFea adaie 3x° (Zy -7)°6 (4x -11)°626@, X @
AR 6960 ? '

JX 18 o)l
B. 20 D 24
The radius of a circle is 5 cm and a chord of it is at a distance of 4 cm from the centre. What is
the length of the chord in cm ?

5 6Q.4. QAR 389 99 Qaa 69R0IQ 4 62.8. 2aca B9l 98 SUIQ cBdY 696
64.4. ?

A.

oMNnm
Lo I+ B P T
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66. The L.C.M. and the H.C.F. of two numbers are 252 and 6 respectively. If one of the numbers is
42, what is the other one?

906 TUYIQ M:Ql:g: B 9:Q1:g: QAIKEA 25266 | VS LY QA AAQ

6T ol 42 626@, 2RYT 6Q60 ?

A B4
B. J2
il
D 36
67. What least number, when divided by 26, 36 and 56, leaves the remainders 6,16,36 respectively?

69w OO g 26,36 8 56 QIaI AGNER, NGEHT Q2N 6, 16 , 36
QEQ ?
A. B588
B. 6552
C. 6532
D. ©6536
68. What is the value of v/12.96 ++/0.1296 +/0.001296 + +/0.00001296 ?

v12.96 +v0.1296 + v0.001296 + v0.00001296 a qig se6o ?

A. 0.39996
B. 3.9996
€ -39.996
D. 399.96
69. If, in a parallelogram PQRS, msP = x-3(F andm<Q = y+2(, then what is x + yvequal to ?

PQRS ansde §ga msP = x—30°6 m£Q = y+20°6c26R, x+y @
AR 6R69 7

A. 180°

B 190°

C. /2000

D. 210° :
70. A man sold two pens at Rs. 12 each. On one he gained 20% and on the other he lost 20%. What

was his profit or loss on the whole?

A. neither gain nor loss
B. gained 1rupee
K
D

lost 1 rupee
. gained 2 rupees
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FE6 6N YESUR QRAG €9 ¢'F PAINER 9T *NF FFEM | 6ANTYI PRFIER

—

olea 20% Qe 6 AGIGea elea 20% 96 sonll *Af 90 36, OISR
6711 AUER ER6E AN 2R ?

A QIR Q86 QI

B. 49 0T QIS 2R
C. 9@ ORI 9T ceml
D. OR OF AN 2R

71. Who is said to be the first preacher of Sufism in India?
A. Sheikh Salim Chisti
B. Khawaja Aizamuddin Auliya
C. Khawaja Moinuddin Chisti
D. Nizamuddin Chirag

@4 aeea gFeIea gf 9010 RUES 366 ?
A 6619 AR §F
B. 4R ALFRR a2l
¢ gl aIgeIe 68
D. FRYER SFaus

72. Who did introduce Permanent Settlement?
A. Warren Hastings
B. William Bentinck
C. Lord Cornwallish
D. Lord Dalhousie

Sagicl @6RIeg @9 goee RGgsR ?
A BIEQR 628arq
B. RRRAM 608
c. @6 edgiag
D. AE CEARING

73. In which Session Congress resolved to start Non-Cooperation movement?
A. Nagpur Session
B. Lahore Session
C. Calcutta Session
D. Bombay Session
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690 ZREIENER PEgd UALEAIT ZUERINS UGR KEUS 98 ged
@G ?

A RGN 2XEIER

B. RELIQ AJEPER

C. YRVVN AYECIFAR

D. D6R UNEDER

74. Who became a martyr in the Quit India Movement in Odisha?
A. Gapabandhu Dash
B. Nabakrushna Chowdhury
C. Laxman Naik
D. Harekrishna Mahatab

RICSRIF EKIRIEE BFSIR 6Q9 AR YIA1 AL 6LINYER ?
A CRICIOR Q16
B. R9Qd 6eolye
C. RYE AL
D. R6QQE ALGIQ

75. From which Harappan site the remains of port have been discovered?

A. Kalibangan C. Lothal

B. Ropar D. Harappa
2049 Y6 AVFG 694 FI9Q 6AIPIFAR QFIEATAIR AT ?

A QIRVETIR C. ERIAIRN

B. 6QUSIQ D. 2adl

76. Which of the following is one of the reasons for branding India as a federal State ?
A. Nominal Head of the State
B. Bi-cameral legislature
C. Universal Adult Suffrage
D. Division of powers between the Centre and the States

Feqle FIQ 699 69ITR NASY IR AL QY KIS ATTe FTIQ 9@ RIRE
2607

A QI NG QUL

B. §-A9R1A MGITR

C. ARV AN RS2

D. 691 G QIFY FIEA FASIA FRRD
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77. Which of the following cannot be a ground for declaration of National Emergency under Article
352 of Indian Constitution?
A. War
B. External Aggression
C. Internal Disturbance
D. Armed Rebellion

F6qI8 AU 69U 6AITT NASIA AAUS QI NBI AFAIA RISIG Q!

[ )

RPIF AAGE 6V FAE2 I VIR 621Q @ UER ?
A Q8
B. QI2Y QA&
C. ASAIE SG6TIR
D. A4IY F6QIP

78. Which of the following is not an essential qualification to be appointed as a Governor of a
State?
A. The person must be a citizen of India
B. The person must have completed 35 years of age
C. The person must not be holding any office of profit
D. The person must be a domiciled resident of the State concerned

FeqI9 AUg 694 cAITR 6TITY AINIR QAURITIR N6 FYS AR e 99
LSNPS QS GEL ?

A S RER NNOID VGRS 6RINYED

B. QB @EIR APIR N8 9F FAAR 62INYES

C. QIS PR 6163 AINRIR ISATEQ TYS @ Y6

D. T RES TYS AUNIQ YIN1 AN 6LINYES

79. Who has the power to make laws regarding the organisation, jurisdiction and powers of the
Supreme Court of India?
A. President of India C. Parliament of India
B. Chief Justice of India D. State Legislatures

RQLR AP YIARDR XE0R, CABRLIQ V2 FAG ALVER AR AR
QEARNIQ AAGI VIR 2T ?

A RANPQ QAUFYAT

B. AR YUIF FRIQUT

C. RNNWQK AR

D. QIS QTR AL
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80. Which of the following states in India has a constitution of its own?
A. Jammu & Kashmir
B. Manipur
C. Sikkim
D. Goa

F6]I8 699 NNOIA AR Fea QIS 25 ?
A RIF 6 A
B. A1&ige
c. @@q
D. &gl

81. The core of the Earth is made up of which materials?
A. Silicate and Magnesium
B. Silicon and Aluminium
C. Aluminium and Nickel
D. Nickel and Iron

YUNYBE 69Q ARIdYFTeca 900 ?
A 3R6e0 e alegdan
B. dReq e 21Qftan
C. AYPAFaF 9o FeoR
D. Feam 6 swle

82. Which one is the upper most layer of the atmosphere?

A. Troposphere C. Mesosphere
B. Exosphere D. Stratosphere
6QWE QIYAYRQ QTP IR ?

A €6UIFQ C. 6716QIFaa
B. 46QIdaa D. ¥l6c1@oQ

€3. Which one is different from the other three on the basis of forms of condensation?

A, Mist C. Dew

B. Cloud D. Rainfall
6QUC ARY FeRIF OIg 8§ig ?

A g C. VNN

B. €16 D. @FQIe
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84. Which one is a hiotic resource?
A, Alr
B. Plant
C. Water
D. lIron

6REE IR 630 QAR ?
A UG
B 94
C. @F
D. 6mIY

85. Which one is an abiotic sedimentary rock?
A. Lime stone
B. Coral rock
C. Sand stone
D. Chalk

6QRE IR ACHIR IQIRE JRI?
A 9 g2
B. 99IF 9o
c. Q@ gaa
D. 9@

86. When the momentum of a body decreases by 10%, its kinetic energy decreases by 7
6IEGERER 69159 @ga ee@a 10% @191, 92IQ 66 618 6969 @Faa?

10%
19%
20%
D. 100%
87. The kinetic energy of a body of mass 1kg is 18 joule. What is its veldtity?

6618 1kg @99 29! @ga 6io® 618 62a8 18 Joule | 92IQ 696 6960 ?

A. 4m/s
6 m/s
9 m/s
18 m/s

R S

oo
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88. A body moves half of its distance at a speed of 60 km/hr and other half at 30 km/hr.
What is its average speed?

6614 @g ¥2Ia dfaae Aeae @ag 60km/hr 6966 1e* 29T 2UEQ
2aQ 90km/hr 62966a 61F R6R, IPIQ LIRIPIAR 696 6@66 ?

65 km/hr
70 km/hr
72 km/hr
D. 75 km/hr
89. A body thrown vertically upwards from the ground comes back to the ground in 4
seconds. What is the maximum height attained by the body?

6014 9g] 9499 JuI aaeg Feeia 4 second G6a VI8 YUV 6TRUIET |

6062, 99 AERIS gIY 90! 6966 ?

A. 20m
B. 9.8 m
C. 10m
D. 19.6m
90. Which relation is not correct?

O wp

699 ARG AGY Q6L ?

1N = 10° dyne
1 Joule = 10" erg
1 H.P. = 764 watt

1 km/hr = -f—gmfs

91. The most convenient way of expressing concentration of a solution is:
IR YYER ARE ARYRIE QIR AL0IQ YFUIFRS VUL 28!

Molarity

Normality

Molality
D. Mole fraction

92. Which one of the following statement is correct?
A, A gas has no shape.

O N ®wxe

) NG

B. A gas has no volume.
C. A gas has neither shape nor volume.
D. All the above are correct.
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FONge a8 AT Y 6966 0K ?
A SUIGE FEQ 2RI RIT |
B. SNIQR 2GR P |
C. gNIQ 2N Y 2 UKL IL19 |
D. Q912 VAR LAY OR |
93. Choose the redox reaction from the following.
FNYge fAug IRIed gERAITy QIg|

A. BaCl, + H;S0, = BaSO, + 2HCI
B. H,50, + 2NaOH =Nay50, + 2H,0
C. CH3COOH + C;Hs0H = CH3COO0C;Hs + H,0
D. Bry+H;5=2HBr+5
94. The reaction H;SO; + NaOH =» NaHSO; + H;0 is
A. Decomposition reaction
B. Displacement reaction
C. Complete neutralisation reaction
D. Partial neutralisation reaction
)

geaal H;50; + NaOH - NaHSO ;+H,0 =16
AN goaa

B. Qglae gédal

c. ergd gaaaiead geaal

D. 2rde gOaRIRed goaa

95. Which one of the following is amorphous solid?

=

8¢ fge g 6R9T QEILIR R0 AQIE ?

A. Diamond C. Glass
B. Graphite D. Common salt
96. In which one does the structure of mitochondria differ from chlorophyll?
A. Two layered membrane C. Presence of grana
B. Presence of ribosome D. DNA

626GER FINEFINGAIR F0F 2RERIR0IQ YaR ?
A. TR o) 999
B. QAUNEECRINR AAFES
c. QI aage
D. @999
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97. Which is not an adaptation of xerophyte?
A. Multi-layered epidermis
B. Sunken Stomata
C. Well-developed vascular tissue
D. Presence of aerenchyma
ERUGC F1Q AE9Q RACAINE 62 2

A QR4 2AYQS
B. §ag 6a1c1

c. QAL 6ad F@de
D. MEQRRINAIR RAFS

98. What is the microbe used in curd making?
A. Yeast C. Lactobacillus
B. Penicillium D. Aspergillus
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99. Which one is a symbiotic nitrogen fixer with Azolla?
A. Acetobacter
B. Clostridium
C. Rhizobium
D. Anabaena
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100. Who did propose the fluid-mosaic model of cell membranes?
Davson & Danielli

Singer & Nicolson

Gorter & Grendel

Watson & Crick
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